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oL |_EHER ANEBXE | 3 | AM 0 0 0 0 0 0 0 0 0 | ~xr16| 16 0 0 0 o[ |,
NIOFIT AMERRE | 2 | AM 0 0 |~z r16| 20 0 0 0 0 0 0 | ~xr16| 16 0 0 0 0 | 36

02 |_EEEE LEAY 3 |vmE 0 0 0 0 0 0 0 0 0 | ~xr16| 16 0 0 0 o[ |,
MEER LEAY 2 |vmE 0 0 |~z r16| 20 0 0 0 0 0 0 | ~xr16| 16 0 0 0 0 | 36

103 |_\BER KELTAE | 3 | mE |#EA 0 0 0 |~z r32] 50 0 0 0 0 0 0 0 0 0 o [s0 | .,
N KELTFAE | 3 | mE |#EA 0 0 0 0 0 0 0 0 0 0 0 0 0 0] o

0 Eiig AAT 3 | m= |m=Es 0 0 0 |~z r32] 50 0 0 0 0 0 0 0 0 0 o [s0 | .,
BHEE AAT 1 | mx |mEs 0 0 0 0 0 0 0 0 0 0 0 0 0 0] o

105 | BN RIBAS REX 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 o [20 ]
EEOT RIBAS 2 | 2 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 0 | 20

105 |_FER B NEX 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 o [20 ] o
EERY) B 3 | A 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 0 | 20

oy | EEEAB | mEdERxE | 1 || sEs 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 o [20 ]
PEEE | ROAEEAY | 1 | Bk |E=Eh 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 0 | 20

0 |_EEER HLEEAY | 1 | 2k |E=Es 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 o [20 ] o
T HLEEAY | 1 | 2k |E=Es 0 0 |~z r16| 20 0 0 0 0 0 0 0 0 0 0 0 | 20

0o |_ETEE BAKS 4 | m= |E=Es 0 0 0 0 0 0 0 0 0 0 |~z r32] 40 0 0 o a0 |,
SEO% T BAKS 3 | m= |mEs 0 0 0 0 0 0 0 0 0 0 0 0 0 0] o

o |_FRER SEAY 3 | m= |mEs 0 0 0 0 0 0 0 0 0 0 |~z r32] 40 0 0 o a0 |,
B SEAY 1 | mx |mEs 0 0 0 0 0 0 0 0 0 0 0 0 0 0] o

o | EEEAE SEAY 3 | m= |m=Es 0 0 0 0 0 0 0 0 0 0 |~z r32] 40 0 0 o a0 |,
EEES FEAY 2 | m= |m=Es 0 0 0 0 0 0 0 0 0 0 0 0 0 0] o

2 |_EFER 4 | m= |m=Es 0 0 0 0 0 0 0 0 0 0 |~z r32] 40 0 0 o a0 |,
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BEEE 1 BI7E 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

116 FAAH 2 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
NERITE & 2 ik 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

117 WIER BEAKE 2 BI7E 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
FERLER BEAKE 2 BI7E 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

118 BREEE BEAKE 4 BI7E 0 0 0 0 0 0 0 0 0 0 | ~Z k32| 40 0 0 0 40 10
LS T BEAKE 4 BI7E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

119 WEHE A 2 BI7E 0 0 | R2+8 |40 0 0 0 0 0 0 0 0 0 0 0 40 10
IR A 1 BI7E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

120 PiEER ERFEZTFAE | 1 BI7E 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
THER ERFEZTFAE | 1 BI7E 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

121 IRE R EAREAS 4 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
RET EAREARS 1 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

122 B HEF] BABIERS 3 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
BIERE BABIERS 1 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

123 e BABIERS 4 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 10
&FIER BABIEARS 4 ik 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20

124 BAREB RREATFHREARF | 4 R | REA 0 0 0 0 0 0 0 0 0 | "2 k8|32 0 0 0 0 32 32
FEOEY BRETFHEAZ | 1 MR | REA 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

125 BIBER mERE 2 | kA 0 0 0 0 0 0 0 0 0 | "2 +8 |32 0 0 0 0 32 32
AR mERE 2 | kA 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

126 NESF] EPERF 2 R 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 20
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127 EHRESD FERF 1 | $mEE 0 0 |RZF16| 20 0 0 0 0 0 0 0 0 0 0 0 20 20
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[1c]:= peipt BEAE 3 |hEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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